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PART — A
1) Underline the correct alternative : 3x1=3
a. India is in fact a ( big / small / huge ) part of the earth’s surface .
b. Once upon a time the earth was too ( cold / dark / hot ) for any living being to survive .
c. Fossils are ( a type of wild animal / one kind old hard rock / the remains of old living beings ) .
2. Fill in the blanks with appropriate words from the help box : 5x1=5
a. As a subject 1s quite interesting .
b. We have good relations with our neighbouring
c. Plants need air , water and sunlight to

d. Can you how big the Universe is ?

e. You should regularly if you want to be a good student .

[ Hepl Box- imagine , grow , history , study , country |

3. Fill in the following chart : 4x2=8
Statement Reason

a. Fairy tales need not be true

b. A piece of rock looks different from a pebble.
c. All pebbles do not become sand .

d. A bit of rock from some mountain side reaches
a little valley .

4. Answer the following question (any three) 3x3=9

a. What must we do to know about the tale of this world ?
b. Why does a pebble have a smooth surface ?

c. How does a pebble become grains of sand ?

d. What does the author mean by “The Great Book of Nature” .

Part— B

1. Complete the following sentence : 4x2=8
a. Akbar asked Birbal .
b. Most people of the court of Akbar were puzzled

c. with drew his claim immediately .

d. the fastest things on earth .

2. Write ‘T’ for true and ‘F’ for false statements in the given boxes : 4x1=4
a. Birbal was indifferent to Akbar’s troubles [ ]

b. Birbal succeeded in answering to Akbar’s query [ |

c. There were no flowers and fruits in the garden of Akbar [ ]

d. The fastest thing on the planet is the human mind .[ ]

3. Fill in the chart : 3x2=6

Cause Effect

a. Akbar was troubled .

b. Emperor Akbar asked Birbal to solve a riddle

c. The neighbour wanted to charge money for drawing
water for drawing from the well.

4. Answer the following question (any three ) : 3x3=9

a. What were the things that the great Emperor Akbar loved ?

b. Why did Akbar not have peace of mind ?

c. How did Birbal solve the problem ?

d. What was the problem presented by the man from the audience ?




PART - C
1. Choose the correct answer from the given alternatives : 3x1=3
a. The little girl whom the poet met was (seven / eight / nine ) years old .
b. The girl lost ( two brother / two sister / a brothers and a sister s) .
c. The distance between her house and the burial ground was only ( twelve steps / ten steps / six steps ) .
2. Write ‘T’ for true and ‘F’ for false statements in the given boxes : 3x1=1
a. The little girl was good looking [ ]
b. Five of her brother and sisters were dead [ ]
c. The graves were covered with green grass [ |
3. Answer the following questions : 4x3=12
a. Pick out the expressions that describe the appearance of the girl .
b. With whom did the girl live ?
c. What does the girl say about her living brothers and sisters ?
d. Why does the girl say ‘We are seven’ ?
PART -D
1. Underline the correct answer : 3x1=3
a. Belle is the name of the ( youngest / middle / eldest ) daughter .
b. Belle asked her father to bring ( jewels / dresses / arose ) .
c. The owner of the castle was a ( rich merchant / beast / king ) .
2. Write “T” for true and ‘F’ for false statements : 4x1=4
a. The merchant had three daughter [ ]
b. The merchant lost his way on his return journey [ |
c. Belle did not go to the castle on her own will [ ]
d. Belle became the mistress of the castle .

3. Fill in the chart : 3x2=6
Cause Effect
a. The merchant moved over to a village
farmhouse
b. The merchant promised to send Belle to the
castle .
C. Belle wept over the body of the beast.
4. Answer the following question ( any five ) : 5x3=15

a. How did the fortune of the merchant change ?
b. What were the gifts that the three daughters asked for ?
c. What did the Beast demand from the merchant ?
d. How did the Beast look after Belle in his castle ?
e. Why did Belle fail to find the prince of her dreams in the castle ?
f. How did a handsome prince become an ugly beast ?
Cleanliness-2
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1. Fill in the blanks with suitable articles and prepositions : 5x1=5

Iswar Chandra Vidyasagar lived the nineteenth century . India when very few
people went school. He founded school Calcutta which was later
known as Vidyasagar College . He wrote Bengali primer which is used even today .
2. Underline the correct form of the verbs given in brackets : 5x1=5

a) Two and two ( make / makes / made ) four .



b) Robert Bruce ( fight / fights / fought ) hard to regain his kingdom .

c¢) She and her friends ( go / went / goes ) to the picnic yesterday .

d) Rahim and I ( eat / ate / were eating ) when the bell rang .

e) The striker ( score / is scoring / scored) a goal in the football match yesterday .

3. What do we call the people who live in the following countries ? 4x1=4

Country Nationality
Russia
Canada
England
Japan

4. Classify the following nouns in the chart given below ; 6x1=6

[ fleet , friendship , ring , honesty , class , chalk ]

Material Noun Abstract Noun Collective Noun

5. Replace the underline words with suitable apposite words from the box. There are some extra words : 4x1=4
a) The man become famous in the early years of his life .
b) She is looking very happy .
c¢) The trunk of this huge tree has a smooth bark .
d) Jatin found his pencil box an his way to school .
[ lost, left , ugly, late , sad , rough ]

6. Complete the following chart with appropriate degree : 4x1=4

Positive Comparative Superlative

beautiful

happier
rarest

clever
7. Fill in the blanks with either present continuous tense or past continuous tense : 4x1=4
a) It (rain ) now .
b) Or Manmohan singh (visit ) Kolkata today .
c) Hari (study ) at 9 pm yesterday .
d) The boys ( play) in the field now .

8. In each set there is a word thet does not fit with the rest of the words in the set. Identify the word . 4x1=4
a) Rice , wheat , barley , cereals , golden b) Teacher , student , chalk , tall , duster .
c) refuse , accept , decline , deny . d) drizzle , storm , tempest , cyclone .

9. Change the voice : 4x2=8
a) Ritam likes fishfry .

b) The porter is carrying load .

c) 1 have finished my job .

d) Rabeya enjoys the show .

10. Make sentence with the following words : ( any four ) : 4x2=8
rustic , surface , slowly , dwell , fast



11. Join the following sentences :
a) In India summer is hot . In India winter is cold.

b) I have a pen . I have a pencil .

c) My father is tall. He is lean .

12. Read the following texts and answer the questions that follow :

It was a dark night . A blind man was going on a road. He had a lamp in his hand. Two men
laughed at him. One if them said, “What is the use if a lamp to a blind man?” The other called the
blind man a fool. The blind man heard this . He said “The lamp is not notice me in darkness. The
lamp will show them the way” . They felt sorry for their foolishness .

A) Write ‘T’ for true and ‘F’ for false statements in the boxes : 4x1=4

a) The blind man had a torch light in his hand [ ]

b) The blind man was also deaf [ ]

c) The light would make other careful about the blind man [ ]

d) The two men hated the blind man [ ]

B) Complete the following sentences with information from the text : 2x2=4

a) The blind man was carrying a lamp because

b) The two men at last could understand

C) Answer the following questions : 2x2=4
a) Why did the blind man carry the lamp with him ?
b) Why did the two men laugh at the blind man ?

13. a) Write a letter to your friend telling him about your bobby . 10
b) Write a paragraph on ‘your first day at school’ / ‘Swami Vivekananda’ 10
c) Using the following verbs write out a story : 10

A crow found a piece of meat flew to a nearby tree the fox saw
to get the piece of meat to trick the crow by sweet talking praised
picked up went away .
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